Aufgabe 1

Start:

isz A

jmp Abziehen
stp
Abziehen:
dec A

jmp Start

Aufgabe 2

Testl:
isz A

jmp Test2
stp
Test2:
isz B

jmp Abziehen
stp
Abziehen:
dec A

dec B

jmp Testl

Aufgabe 3

Test:

isz A

jmp Abziehen
stp
Abziehen:
dec A

inc B

inc B

inc B

jmp Test
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Aufgabe 4

; 1. Schritt: A->C
Testl:

isz A

jmp Abziehenl

jmp Test2
Abziehenl:

dec A

inc C

jmp Testl

; 2. Schritt: B->A
Test2:

isz B

jmp Abziehen2

jmp Test3
Abziehen2:

dec B

inc A

jmp Test2

; 3. Schritt: C->B
Test3:

isz C

jmp Abziehen3

stp

Abziehen3:

dec C

inc B

jmp Test3
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Aufgabe 5

Testl:

isz A

jmp Test2
jmp BLeeren
Test2:

isz B

jmp Abziehen
jmp ALeeren
Abziehen:
dec A

dec B

inc C

inc D

jmp Testl

ALeeren:
isz A

jmp AAbziehen

stp
AAbziehen:
dec A

inc C

jmp ALeeren

BLeeren:
isz B

jmp BAbziehen

stp
BAbziehen:
dec B

inc C

jmp BLeeren
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Aufgabe 6

; A leer? Fertig!
Test:

isz A

jmp Kopieren

stp

; B nach C und D kopieren
Kopieren:

isz B

jmp Verschiebenl

jmp Zurick

Verschiebenl:

dec B

inc C

inc D

jmp Kopieren

Zuruck:

isz D

jmp Verschieben2
jmp DurchgangFertig
Verschieben2:

dec D

inc B

jmp Zurick

DurchgangFertig:
dec A
jmp Test
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